
PHYSICS

BOOKS - ICSE

MEASUREMENTS AND

EXPERIMENTATION

Examples

1. The mass of an atom of oxygen is 16.0 u.

Express it in kg.

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Wndj8rJfx5rK


Watch Video Solution

2. The mass of a molecule of hydrogen is

 kg. Find the mass of 1 kg mol of

hydrogen gas.

Watch Video Solution

3.332 × 10
− 27

3. The size of a particle is  . Express it in

metre.

Watch Video Solution

4.6μ

https://dl.doubtnut.com/l/_Wndj8rJfx5rK
https://dl.doubtnut.com/l/_Deotqs5IESlV
https://dl.doubtnut.com/l/_63KH0EgHlfmM


4. It takes 5 years for light to reach the earth

from a star. Express the distance of star from

the earth in (i) light year, (ii) km . Take speed of

light  and 

 s

Watch Video Solution

= 3 × 10
8ms − 1

1year = 3.153 × 10
7

5. The average mass of an atom of uranium is

 kg. Find the number of atom is 1

g of uranium.

3.9 × 10
− 25

https://dl.doubtnut.com/l/_63KH0EgHlfmM
https://dl.doubtnut.com/l/_pVmUP9M8AzxX
https://dl.doubtnut.com/l/_IxdVSQmZZeFQ


Watch Video Solution

6. The wavelength of light is 5000 Å , express it

in nm .

Watch Video Solution

7. The wavelength of light is 5000 Å , express it

in m .

Watch Video Solution

https://dl.doubtnut.com/l/_IxdVSQmZZeFQ
https://dl.doubtnut.com/l/_VXlwF282WYPb
https://dl.doubtnut.com/l/_kDE2RIzl30YI
https://dl.doubtnut.com/l/_gcHfh00vLpeI


8. In an instrument, there are 25 divisions on

the vernier scale which have length of 24

divisions of the main scale. 1 cm on main scale

is divided in 20 equal parts. Find the least

count.

Watch Video Solution

9. Fig. given below shows the two scales of a

vernier callipers. Find : (i) the least count of

the vernier , and (ii) the reading shown in the

https://dl.doubtnut.com/l/_gcHfh00vLpeI
https://dl.doubtnut.com/l/_pwK9c1SIzSAq


diagram. 

View Text Solution

10. The least count of a vernier callipers is 0.01

cm and its zero error is + 0.02 cm. While

measuring the length of a rod, the main scale

reading is 4.8 cm and sixth division on vernier

https://dl.doubtnut.com/l/_pwK9c1SIzSAq
https://dl.doubtnut.com/l/_zu3I8A2IeQiX


scale is in line with a marking on the main

scale. Calculate the length of the rod.

Watch Video Solution

11. The circular head of a screw gauge is

divided into 50 divisions and the screw moves

1 mm ahead in two revolutions of the circular

head. Find its pitch .

Watch Video Solution

https://dl.doubtnut.com/l/_zu3I8A2IeQiX
https://dl.doubtnut.com/l/_pp71EOFatDON


12. The circular head of a screw gauge is

divided into 50 divisions and the screw moves

1 mm ahead in two revolutions of the circular

head. Find its least count.

Watch Video Solution

13. The pitch of a screw gauge is 1 mm and

there are 100 divisions on the circular head.

While measuring the diameter of a wire, the

main scale reads 3 mm and the 55th division is

https://dl.doubtnut.com/l/_uHngRpcVplfL
https://dl.doubtnut.com/l/_G7B39F8yWqEH


in line with the base line. Find the diameter of

the wire. Assume that the screw gauge is free

from zero error.

Watch Video Solution

14. In Fig. the pitch of the screw is 1 mm. Find :

(i) the least count of screw gauge and (ii) the

https://dl.doubtnut.com/l/_G7B39F8yWqEH
https://dl.doubtnut.com/l/_kZsIE6aW4ORb


reading represented in the diagram. 

Watch Video Solution

15. A boy measures the length of a piece of

pencil by metre rule, vernier callipers and

screw gauge to be 1.2 cm, 1.24 cm and 1.243 cm

https://dl.doubtnut.com/l/_kZsIE6aW4ORb
https://dl.doubtnut.com/l/_wSvIqQU4JS2y


respectively. State the least count of each

measuring instrument

Watch Video Solution

16. A boy measures the length of a piece of

pencil by metre rule, vernier callipers and

screw gauge to be 1.2 cm, 1.24 cm and 1.243 cm

respectively. State the accuracy in each

measurement .

Watch Video Solution

https://dl.doubtnut.com/l/_wSvIqQU4JS2y
https://dl.doubtnut.com/l/_FsPXBSXd9VAT
https://dl.doubtnut.com/l/_skWMU2DOiWUs


17. Calculate the length of a seconds'

pendulum at a place where 

Watch Video Solution

g = 9.8ms − 2

18. Compare the time periods of a simple

pendulum at places where g is  and

4.36 m  respectively .

Watch Video Solution

9.8ms − 2

s − 2

https://dl.doubtnut.com/l/_skWMU2DOiWUs
https://dl.doubtnut.com/l/_epL4kZj2tQcZ


19. Compare the time periods of two simple

pendulums of length 1 m and 16 m at at place.

Watch Video Solution

20. (a) A simple pendulum is made by

suspending a bob of mass 500 g by a string of

length 1 m . Calculate its time period at a place

where g = 10  . 


(b) How will the time period in part (a) the

ms − 2

https://dl.doubtnut.com/l/_sgbVN3x9Lqug
https://dl.doubtnut.com/l/_fUFl1DHIjQyq


Exercise 1 A

affected if bob of mass 100 g is used, keeping

the length of string unchanged ?

Watch Video Solution

1. What is meant by measurement ?

Watch Video Solution

2. What do you understand by the term unit?

https://dl.doubtnut.com/l/_fUFl1DHIjQyq
https://dl.doubtnut.com/l/_oloJeiWj0S5z
https://dl.doubtnut.com/l/_g4J9tJ812o4j


Watch Video Solution

3. What are the three requirements for

selecting a unit of a physical quantity ?

Watch Video Solution

4. Name the three fundamental quantities.

Watch Video Solution

https://dl.doubtnut.com/l/_g4J9tJ812o4j
https://dl.doubtnut.com/l/_8mcZJwjvSZMX
https://dl.doubtnut.com/l/_vzFsB6vzO381


5. Name the three systems of unit and state

the various fundamental units in them.

Watch Video Solution

6. Define a fundamental unit.

Watch Video Solution

7. What are the fundamental units in S.I.

system ? Name them along with their symbols.

https://dl.doubtnut.com/l/_iXhudFpCXrf9
https://dl.doubtnut.com/l/_3TlhH6JiCcsM
https://dl.doubtnut.com/l/_uMU8vlyoHPFd


Watch Video Solution

8. Explain the meaning of derived unit with the

help of one example.

Watch Video Solution

9. Define standard metre.

Watch Video Solution

https://dl.doubtnut.com/l/_uMU8vlyoHPFd
https://dl.doubtnut.com/l/_EHNqpL0B1bDk
https://dl.doubtnut.com/l/_MUwvF8brtfeE


10. Name two units of length which are bigger

than a meter. How are they related to the unit

meter?

Watch Video Solution

11. Write the names of two units of length

smaller than a metre. Express their

relationship with metre.

Watch Video Solution

https://dl.doubtnut.com/l/_wVuCsFsIXsYd
https://dl.doubtnut.com/l/_PJeoICqC8KTP
https://dl.doubtnut.com/l/_1lxfLKFh1Foe


12. How is nanometre related to Angstrom ?

Watch Video Solution

13. Name the three convenient units used to

measure length ranging from very short to

very long value. How are they related to the S.I.

unit?

Watch Video Solution

https://dl.doubtnut.com/l/_1lxfLKFh1Foe
https://dl.doubtnut.com/l/_TSpzD5ewBqTp


14. Name the S.I. unit of mass and define it.

Watch Video Solution

15. Complete the following: 

1 light year = ........ M

Watch Video Solution

16. Complete the following: 

1 m = .............. Å

https://dl.doubtnut.com/l/_AiyKvp0HQR1o
https://dl.doubtnut.com/l/_XNDg102GmvGK
https://dl.doubtnut.com/l/_Nx1hZ3zA5XPm


Watch Video Solution

17. Complete the following: 

1 m = …………… 

Watch Video Solution

μ

18. Complete the following: 

1 micron = ......... 

Watch Video Solution

Å

https://dl.doubtnut.com/l/_Nx1hZ3zA5XPm
https://dl.doubtnut.com/l/_7aDWwDAc7cHa
https://dl.doubtnut.com/l/_11trlJf1ozrK
https://dl.doubtnut.com/l/_JanN4cQoUo5q


19. Complete the following: 

1 fermi = ............... M

Watch Video Solution

20. State two units of mass smaller than a

kilogram. How are they related to the unit

Kilogram?

Watch Video Solution

https://dl.doubtnut.com/l/_JanN4cQoUo5q
https://dl.doubtnut.com/l/_Z3aCM6UvWNwx


21. State two units of mass bigger than a

kilogram. Give their relationship with the

kilogram.

Watch Video Solution

22. Complete the following: 

1g = ……………….. Kg

Watch Video Solution

https://dl.doubtnut.com/l/_fpWY2TUvis4Y
https://dl.doubtnut.com/l/_9OMDxETFCyWW


23. Complete the following: 

1 mg = ............... Kg

Watch Video Solution

24. Complete the following: 

1 quintal = ……………….. Kg

Watch Video Solution

https://dl.doubtnut.com/l/_ymfsrazPWy05
https://dl.doubtnut.com/l/_2A2f4UXyxnQZ


25. Complete the following: 

1 a.m.u (or u) = ...........

Watch Video Solution

26. Name the S.I. unit of time and define it.

Watch Video Solution

27. Name two units of time bigger than a

second. How are they related to second ?

https://dl.doubtnut.com/l/_sxK8lyaYnZXZ
https://dl.doubtnut.com/l/_Sa9bm70bgB9x
https://dl.doubtnut.com/l/_WzRgMV9GZJGD


Watch Video Solution

28. What is a leap year?

Watch Video Solution

29. The year 2020 will have February of 29

days'. Is this statement true ?

Watch Video Solution

https://dl.doubtnut.com/l/_WzRgMV9GZJGD
https://dl.doubtnut.com/l/_FYhWHPU1CInU
https://dl.doubtnut.com/l/_2PzTukVecY0P


30. What is a lunar month?

Watch Video Solution

31. Complete the following: 

1 nano second = ………………….. S

Watch Video Solution

32. Complete the following: 

s = ………………. S.μ

https://dl.doubtnut.com/l/_lauSJwIL27sc
https://dl.doubtnut.com/l/_KndFkhxW9b3Q
https://dl.doubtnut.com/l/_g45jOj01nwq3


Watch Video Solution

33. Complete the following: 

1 mean solar day = ………………… s.

Watch Video Solution

34. Complete the following: 

1 year = ……………… s

Watch Video Solution

https://dl.doubtnut.com/l/_g45jOj01nwq3
https://dl.doubtnut.com/l/_KZcYtWOgJd6X
https://dl.doubtnut.com/l/_4kGNnQTgFcQf
https://dl.doubtnut.com/l/_tsC3VTv56tYr


35. Name the physical quantities which are

measured in the following unit 

u

Watch Video Solution

36. Name the physical quantities which are

measured in the following unit 

ly

Watch Video Solution

https://dl.doubtnut.com/l/_tsC3VTv56tYr
https://dl.doubtnut.com/l/_vADcSZIUqlDI
https://dl.doubtnut.com/l/_kiAWGfrKpihw


37. Name the physical quantities which are

measured in the following unit 

ns

Watch Video Solution

38. Name the physical quantities which are

measured in the following unit 

nm

Watch Video Solution

https://dl.doubtnut.com/l/_kiAWGfrKpihw
https://dl.doubtnut.com/l/_mBS8SYaXhGTC


39. Write the derived units of the following 

speed

Watch Video Solution

40. Write the derived units of the following 

force

Watch Video Solution

https://dl.doubtnut.com/l/_rwg7AL8ql6dt
https://dl.doubtnut.com/l/_pC8McPeniPPL


41. Write the derived units of the following 

work

Watch Video Solution

42. Write the derived units of the following 

pressure

Watch Video Solution

https://dl.doubtnut.com/l/_2b7C7xtlSu0n
https://dl.doubtnut.com/l/_UawJ9TBvt8UQ


43. How are the following derived units related

to the fundamental units ? 

newton

Watch Video Solution

44. How are the following derived units

related to the fundamental units ? 

watt

Watch Video Solution

https://dl.doubtnut.com/l/_Rtyxy5asq5yJ
https://dl.doubtnut.com/l/_lr45B9j3yVqv
https://dl.doubtnut.com/l/_LlVwC10RkX6e


45. How are the following derived units related

to the fundamental units ? 

(a)Newton , (b)Watt , (c ) Joule , (d) Pascal

Watch Video Solution

46. How are the following derived units related

to the fundamental units ? 

pascal

Watch Video Solution

https://dl.doubtnut.com/l/_LlVwC10RkX6e
https://dl.doubtnut.com/l/_Hh4zHzyA3A5u
https://dl.doubtnut.com/l/_mAIEaLNGjYuJ


47. Name the physical quantities related to the

following unit : 

Watch Video Solution

km2

48. Name the physical quantities related to

the following unit : 

newton

Watch Video Solution

https://dl.doubtnut.com/l/_mAIEaLNGjYuJ
https://dl.doubtnut.com/l/_h6yxetMO4dBz


49. Name the physical quantities related to

the following unit : 

joule

Watch Video Solution

50. Name the physical quantities related to

the following unit : 

pascal

Watch Video Solution

https://dl.doubtnut.com/l/_RJwOG1nTqFUb
https://dl.doubtnut.com/l/_U1OYYUj1J24S
https://dl.doubtnut.com/l/_VaVCzLJtTsfm


Exercise 1 A Multiple Choice Type

51. Name the physical quantities related to the

following unit : 

watt

Watch Video Solution

1. The fundamental unit is :

A. newton

B. pascal

https://dl.doubtnut.com/l/_VaVCzLJtTsfm
https://dl.doubtnut.com/l/_5MEJoy716Tu7


C. hertz

D. second

Answer: D

Watch Video Solution

2. Which of the following unit is not a

fundamental unit:

A. metre

B. litre

https://dl.doubtnut.com/l/_5MEJoy716Tu7
https://dl.doubtnut.com/l/_Zs12jTnzooMt


C. second

D. kilogram

Answer: B

Watch Video Solution

3. The unit of time is :

A. light year

B. parsec

C. leap year

https://dl.doubtnut.com/l/_Zs12jTnzooMt
https://dl.doubtnut.com/l/_yBtO6mMW4iXT


D. angstrom

Answer: C

Watch Video Solution

4. 1 Å is equal to :

A. 0.1 nm

B.  cm

C. 

D. 

10
− 10

10
− 8m

10
− 4μ

https://dl.doubtnut.com/l/_yBtO6mMW4iXT
https://dl.doubtnut.com/l/_LQZhBK4jyB6j


Answer: A

Watch Video Solution

5. ly is the unit of :

A. time

B. length

C. mass

D. none of these

Answer: B

https://dl.doubtnut.com/l/_LQZhBK4jyB6j
https://dl.doubtnut.com/l/_15dPPSqqhQvC


Exercise 1 A Numerical

Watch Video Solution

1. The wavelength of light of a particular

colour is 5800 Å. Express it in. 

(i) nanometre and (ii)metre

Watch Video Solution

https://dl.doubtnut.com/l/_15dPPSqqhQvC
https://dl.doubtnut.com/l/_TP4Rg83aOnPE


2. The wavelength of light of a particular

colour is 5800 Å. Express it in. 

(i) nanometre and (ii)metre

Watch Video Solution

3. If the size of bacteria is 1 micron, what will

be the number of it in 1 m length?

Watch Video Solution

https://dl.doubtnut.com/l/_0weVLgVkHBcR
https://dl.doubtnut.com/l/_pJqrAGiJMPqT


4. The distance of a galaxy from the earth is

 m. Assuming the speed of light to

be  m  find the time taken by light

to travel this distance.

Watch Video Solution

5.6 × 10
25

3 × 10
8 s − 1

5. The wavelength of light is 589 nm. What is

its wavelength in Å ?

Watch Video Solution

https://dl.doubtnut.com/l/_TyNuWL0Jg0Bl
https://dl.doubtnut.com/l/_uj49EPGl5B12
https://dl.doubtnut.com/l/_sqY3xNAprrpQ


6. The mass of an atom of oxygen is 16.0 u.

Express it in kg.

Watch Video Solution

7. It takes time 8 min for light to reach from

the sun to the earth surface. If speed of light

is taken to be  m , find the distance

from the sun to the earth in km.

Watch Video Solution

3 × 10
8 s − 1

https://dl.doubtnut.com/l/_sqY3xNAprrpQ
https://dl.doubtnut.com/l/_BKz673xlYth8
https://dl.doubtnut.com/l/_qriA9jjr3Z8V


Exercise 1 B

8. The distance of a star from the earth is 8.33

light minutes.' What do you mean by this

statement ? Express the distance in metre.

Watch Video Solution

1. Explain the meaning of the term 'least count

of an instrument' by taking a suitable example.

Watch Video Solution

https://dl.doubtnut.com/l/_qriA9jjr3Z8V
https://dl.doubtnut.com/l/_iZPhJqPsYVx7
https://dl.doubtnut.com/l/_QPgcdItuLGnh


2. A boy makes a ruler with graduations in cm

on it (i.e., 100 divisions in 1 m). To what

accuracy this ruler can measure ? How can this

accuracy be increased ?

Watch Video Solution

3. A boy measures the length of a pencil and

expresses it to be 2.6 cm. What is the accuracy

of his measurement ? Can he write it as 2.60

cm ?

https://dl.doubtnut.com/l/_QPgcdItuLGnh
https://dl.doubtnut.com/l/_CweVbZvL3wcr


Watch Video Solution

4. Define least count of a vernier callipers. How

do you determine it?

Watch Video Solution

5. Define the term 'Vernier constant'.

Watch Video Solution

https://dl.doubtnut.com/l/_CweVbZvL3wcr
https://dl.doubtnut.com/l/_w2s5QDdqJGY3
https://dl.doubtnut.com/l/_beE97uG9dYYv


6. When is a vernier callipers said to be free

from zero error?

Watch Video Solution

7. What is meant by zero error of a vernier

callipers ? How is it determined ? Draw neat

diagrams to explain it. How is it taken in

account to get the correct measurement ?

Watch Video Solution

https://dl.doubtnut.com/l/_TYol0hyjeP9M
https://dl.doubtnut.com/l/_oYkXCxRlwpSB
https://dl.doubtnut.com/l/_wZpfOoKCiSQb


8. A vernier callipers has a zero error + 0.06

cm. Draw a neat labelled diagram to represent

it.

Watch Video Solution

9. Draw a neat labelled diagram of a vernier

callipers.

Watch Video Solution

https://dl.doubtnut.com/l/_wZpfOoKCiSQb
https://dl.doubtnut.com/l/_KZQWwZLPwQjk


10. State three uses of a vernier callipers.

Watch Video Solution

11. Name the two scales of a vernier callipers

and explain, how it is used to measure a

length correct up to 0.01 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_X22JPiMfZocC
https://dl.doubtnut.com/l/_6bZbIfo0zSab


12. Describe in steps, how would you use a

vernier callipers to measure the length of a

small rod ?

Watch Video Solution

13. Name the part of the vernier callipers

which is used to measure the following 

external diameter of a tube

Watch Video Solution

https://dl.doubtnut.com/l/_NtmlIqc8kSD8
https://dl.doubtnut.com/l/_KglLbO8UBZLK
https://dl.doubtnut.com/l/_oRkXcMclhRNI


14. Name the part of the vernier callipers

which is used to measure the following 

internal diameter of a mug

Watch Video Solution

15. Name the part of the vernier callipers

which is used to measure the following 

depth of a small bottle,

Watch Video Solution

https://dl.doubtnut.com/l/_oRkXcMclhRNI
https://dl.doubtnut.com/l/_avN6VNbqlN3R
https://dl.doubtnut.com/l/_AIO3HzT0hT9u


16. Name the part of the vernier callipers

which is used to measure the following 

thickness of a pencil.

Watch Video Solution

17. Explain the term pitch. How are they

determined ?

Watch Video Solution

https://dl.doubtnut.com/l/_AIO3HzT0hT9u
https://dl.doubtnut.com/l/_KXGDrl0IpxtF


18. Explain the term least count of a screw

gauge. How are they determined ?

Watch Video Solution

19. How can the least count of a screw gauge

be decreased ?

Watch Video Solution

https://dl.doubtnut.com/l/_5ZiuZkhoeJHn
https://dl.doubtnut.com/l/_cCrSQqLg32Cc


20. Draw a neat and labelled diagram of a

screw gauge. Name its main parts and state

their functions.

Watch Video Solution

21. State one use of a screw gauge .

Watch Video Solution

https://dl.doubtnut.com/l/_4jhpsrQrg62u
https://dl.doubtnut.com/l/_UuFvwv9wthoO


22. State the purpose of ratchet in a screw

gauge.

Watch Video Solution

23. What do you mean by zero error of a screw

gauge ? How is it accounted for ?

Watch Video Solution

https://dl.doubtnut.com/l/_kalkbdbzcSPc
https://dl.doubtnut.com/l/_MyZN48ql06ms


24. A screw gauge has a least count 0.001 cm

and zero error + 0.007 cm. Draw a neat

diagram to represent it.

Watch Video Solution

25. What is backlash error ? Why is it caused ?

Watch Video Solution

https://dl.doubtnut.com/l/_65pxW889mxjS
https://dl.doubtnut.com/l/_DZl6lNZbr0hF


26. The diameter of a thin wire can be

measured by :

Watch Video Solution

27. Name the instrument which can measure

accurately the following 

the diameter of a needle

Watch Video Solution

https://dl.doubtnut.com/l/_bYyvsfKujpY9
https://dl.doubtnut.com/l/_RUChnz9McCvx


28. Name the instrument which can measure

accurately the following 

the thickness of a paper

Watch Video Solution

29. Name the instrument which can measure

accurately the following 

the internal diameter of the neck of a water

bottle

Watch Video Solution

https://dl.doubtnut.com/l/_mgIIe6yVKLUQ
https://dl.doubtnut.com/l/_8J8ok3kgydcU


30. Name the instrument which can measure

accurately the following 

the diameter of a pencil.

Watch Video Solution

31. Which of the following measures a small

length to a high accuracy: metre rule, vernier

callipers, screw gauge ?

Watch Video Solution

https://dl.doubtnut.com/l/_8J8ok3kgydcU
https://dl.doubtnut.com/l/_ocYJ2zcjwPuB
https://dl.doubtnut.com/l/_rCDtx4BBf67U


32. Name the instrument which has the least

count 0.1 mm .

Watch Video Solution

33. Name the instrument which has the least

count 1 mm .

Watch Video Solution

https://dl.doubtnut.com/l/_p0fGPAgRIcfL
https://dl.doubtnut.com/l/_tAfMb92IcpwN


Exercise 1 B Multiple Choice Type

34. Name the instrument which has the least

count 0.01 mm.

Watch Video Solution

1. The least count of a vernier callipers is :

A. 1 cm

B. 0.001 cm

https://dl.doubtnut.com/l/_tO8dAIRTh2qq
https://dl.doubtnut.com/l/_oHTvGxDcyABx


C. 0.1 cm

D. 0.01 cm

Answer: C

Watch Video Solution

2. A microscope has its main scale with 20

divisions in 1 cm and vernier scale with 25

divisions, the length of which is equal to the

length of 24 divisions of main scale. The least

count of microscope is :

https://dl.doubtnut.com/l/_oHTvGxDcyABx
https://dl.doubtnut.com/l/_jziPFzbDulnf


A. 0.002 cm

B. 0.001 cm

C. 0.02 cm

D. 0.01 cm

Answer: A

Watch Video Solution

3. The diameter of a thin wire can be measured

by :

https://dl.doubtnut.com/l/_jziPFzbDulnf
https://dl.doubtnut.com/l/_nlZ2it3V0Lok


Exercise 1 B Numericals

A. a vernier callipers

B. a metre rule

C. a screw gauge

D. none of these.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_nlZ2it3V0Lok


1. A stop watch has 10 divisions graduated

between the 0 and 5 s marks. What is its least

count?

Watch Video Solution

2. A vernier has 10 divisions and they are equal

to 9 divisions of main scale in length. If the

main scale is calibrated in mm, what is its least

count?

Watch Video Solution

https://dl.doubtnut.com/l/_ZwwDHaXe9tiv
https://dl.doubtnut.com/l/_ndMHwVHBmsey


3. A microsocpe is provided with a main scale

graduated with 20 divisions in 1 cm and a

vernier scale with 50 divisions on it of length

same as of 49 divisions of main scale. Find the

least count of the microscope.

Watch Video Solution

4. A boy uses a vernier callipers to measure

the thickness of his pencil. He measures it to

be 1.4 mm. If the zero error of vernier callipers

https://dl.doubtnut.com/l/_ndMHwVHBmsey
https://dl.doubtnut.com/l/_CCA8cA2qAMuM
https://dl.doubtnut.com/l/_CQ7wbCk36tzF


is + 0.02 cm, what is the correct thickness of

pencil ?

Watch Video Solution

5. A vernier callipers has its main scale

graduated in mm and 10 divisions on its

vernier scale are equal in length to 9 mm.

When the two jaws are in contact, the zero of

vernier scale is ahead of zero of main scale

and 3rd division of vernier scale coincides with

a main scale division. Find the least count .

https://dl.doubtnut.com/l/_CQ7wbCk36tzF
https://dl.doubtnut.com/l/_Ou450owHfVUy


Watch Video Solution

6. A vernier callipers has its main scale

graduated in mm and 10 divisions on its

vernier scale are equal in length to 9 mm.

When the two jaws are in contact, the zero of

vernier scale is ahead of zero of main scale

and 3rd division of vernier scale coincides with

a main scale division. Find the zero error of

vernier callipers.

Watch Video Solution

https://dl.doubtnut.com/l/_Ou450owHfVUy
https://dl.doubtnut.com/l/_8KKVy3WUf5CH
https://dl.doubtnut.com/l/_zLS826qDF6Q2


7. The main scale of a vernier callipers is

calibrated in mm and 19 divisions of main scale

are equal in length to 20 divisions of vernier

scale. In measuring the diameter of a cylinder

by this instrument, the main scale reads 35

divisions and the 4th division of vernier scale

coincides with a main scale division. Find least

count .

Watch Video Solution

https://dl.doubtnut.com/l/_zLS826qDF6Q2


8. The main scale of a vernier callipers is

calibrated in mm and 19 divisions of main scale

are equal in length to 20 divisions of vernier

scale. In measuring the diameter of a cylinder

by this instrument, the main scale reads 35

divisions and the 4th division of vernier scale

coincides with a main scale division. Find

radius of cylinder.

Watch Video Solution

https://dl.doubtnut.com/l/_7JCnaNdm8718


9. In a vernier callipers, there are 10 divisions

on the vernier scale and 1 cm on the main

scale is divided in 10 parts. While measuring a

length, the zero of the vernier lies just ahead

of 1.8 cm mark and 4th division of vernier

coincides with a main scale division FInd the

length.

Watch Video Solution

https://dl.doubtnut.com/l/_HFcTKi2RdLVU


10. In a vernier callipers, there are 10 divisions

on the vernier scale and 1 cm on the main

scale is divided in 10 parts. While measuring a

length, the zero of the vernier lies just ahead

of 1.8 cm mark and 4th division of vernier

coincides with a main scale division . If zero

error of vernier callipers is -0.02 cm, what is

the correct length ?

Watch Video Solution

https://dl.doubtnut.com/l/_HKWCzyLY3HZx


11. The pitch of a screw gauge is 0.5 mm and

the head scale is divided in 100 parts. What is

the least count of screw gauge ?

Watch Video Solution

12. The circular head of a screw gauge is

divided into 50 divisions and the screw moves

1 mm ahead in two revolutions of the circular

head. Find its pitch .

Watch Video Solution

https://dl.doubtnut.com/l/_T9FLzxIJCz15
https://dl.doubtnut.com/l/_DMhEXTdH41L7


13. The circular head of a screw gauge is

divided into 50 divisions and the screw moves

1 mm ahead in two revolutions of the circular

head. Find its least count.

Watch Video Solution

14. The pitch of a screw gauge is 1 mm and its

circular scale has 100 divisions. In

measurement of the diameter of a wire, the

main scale reads 2 mm and 45th mark on

https://dl.doubtnut.com/l/_DMhEXTdH41L7
https://dl.doubtnut.com/l/_xIcw0AdarFJC
https://dl.doubtnut.com/l/_zSAxP11vXuvd


circular scale coincides with the base line. Find

the least count .

Watch Video Solution

15. The pitch of a screw gauge is 1 mm and its

circular scale has 100 divisions. In

measurement of the diameter of a wire, the

main scale reads 2 mm and 45th mark on

circular scale coincides with the base line. Find

the diameter of the wire.

Watch Video Solution

https://dl.doubtnut.com/l/_zSAxP11vXuvd
https://dl.doubtnut.com/l/_vsA2Il40s6bS


16. When a screw gauge of least count 0.01

mm is used to measure the diameter of a wire,

the reading on the sleeve is found to be 1 mm

and the reading on the thimble is found to be

27 divisions.What is the diameter of the wire

in cm ?

Watch Video Solution

17. When a screw gauge of least count 0.01 mm

is used to measure the diameter of a wire, the

https://dl.doubtnut.com/l/_vsA2Il40s6bS
https://dl.doubtnut.com/l/_LV9BNyPD9qno
https://dl.doubtnut.com/l/_wEs9JSrJ7Cqi


reading on the sleeve is found to be 1 mm and

the reading on the thimble is found to be 27

divisions.If the zero error + 0.005 cm, what is

the correct diameter ?

Watch Video Solution

18. A screw gauge has 50 divisions on its

circular scale and its screw moves by 1 mm on

turning it by two rotations. When the flat end

of the screw is in contact with the stud, the

zero of circular scale lies below the base line

https://dl.doubtnut.com/l/_wEs9JSrJ7Cqi
https://dl.doubtnut.com/l/_UBZ0LI6f81LH


and 4th division of circular scale is in line with

the base line. Find the pitch.

Watch Video Solution

19. A screw gauge has 50 divisions on its

circular scale and its screw moves by 1 mm on

turning it by two rotations. When the flat end

of the screw is in contact with the stud, the

zero of circular scale lies below the base line

and 4th division of circular scale is in line with

the base line. Find the least count .

https://dl.doubtnut.com/l/_UBZ0LI6f81LH
https://dl.doubtnut.com/l/_aXZvgJS1VmRS


Watch Video Solution

20. A screw gauge has 50 divisions on its

circular scale and its screw moves by 1 mm on

turning it by two rotations. When the flat end

of the screw is in contact with the stud, the

zero of circular scale lies below the base line

and 4th division of circular scale is in line with

the base line. Find the zero error, of the screw

gauge.

Watch Video Solution

https://dl.doubtnut.com/l/_aXZvgJS1VmRS
https://dl.doubtnut.com/l/_TK1GKIv0o05f
https://dl.doubtnut.com/l/_fby0s9BAlvWW


21. Fig. below shows the reading obtained

while measuring the diameter of a wire with a

screw gauge. The screw advances by 1 division

on main scale when circular head is rotated

once. 

 


Find least count of screw gauge .

Watch Video Solution

https://dl.doubtnut.com/l/_fby0s9BAlvWW
https://dl.doubtnut.com/l/_ihKzg53cOncV


22. Fig. below shows the reading obtained

while measuring the diameter of a wire with a

screw gauge. The screw advances by 1 division

on main scale when circular head is rotated

once. 

 


Find the diameter of the wire.

Watch Video Solution

https://dl.doubtnut.com/l/_ihKzg53cOncV
https://dl.doubtnut.com/l/_9Hae4uu4A8Uz


23. Fig. below shows the reading obtained

while measuring the diameter of a wire with a

screw gauge. The screw advances by 1 division

on main scale when circular head is rotated

once. 

 


Find the diameter of the wire.

Watch Video Solution

https://dl.doubtnut.com/l/_9Hae4uu4A8Uz


Exercise 1 C

1. What is a simple pendulum ? Is the

pendulum used in a pendulum clock simple

pendulum ? Give reason to your answer.

Watch Video Solution

2. Define the term oscillation

Watch Video Solution

https://dl.doubtnut.com/l/_agR2WYsswb9j
https://dl.doubtnut.com/l/_lumHUAiL6Vnn
https://dl.doubtnut.com/l/_PJ8zdOfZUZjN


3. Define the term amplitude of a wave. Write

its S.I. unit.

Watch Video Solution

4. Define the term frequency .

Watch Video Solution

5. Define the term time period as related to a

simple pendulum.

Watch Video Solution

https://dl.doubtnut.com/l/_PJ8zdOfZUZjN
https://dl.doubtnut.com/l/_n8R34FK9HmR4
https://dl.doubtnut.com/l/_qdA9BhO8ptJR


6. Draw a neat diagram of a simple pendulum.

Show on it the effective length of the

pendulum and its one oscillation.

Watch Video Solution

7. Name two factors on which the time period

of a simple pendulum depends. Write the

relation for the time period in terms of the

above named factors.

https://dl.doubtnut.com/l/_qdA9BhO8ptJR
https://dl.doubtnut.com/l/_O3aCqe8pF8HG
https://dl.doubtnut.com/l/_rybYxgQh9YGx


Watch Video Solution

8. Name two factors on which the time period

of a simple pendulum does not depend.

Watch Video Solution

9. How is the time period of a simple

pendulum affected, if at all, in the following

situation 

the length is made four times.

https://dl.doubtnut.com/l/_rybYxgQh9YGx
https://dl.doubtnut.com/l/_BE4zWBqthatj
https://dl.doubtnut.com/l/_AttYf6kQ7IvO


Watch Video Solution

10. How is the time period of a simple

pendulum affected, if at all, in the following

situations: The acceleration due to gravity is

reduced to one-fourth

Watch Video Solution

11. What is the relation between time period

(T) and frequency (f) of an oscillation of a

simple pendulum?

https://dl.doubtnut.com/l/_AttYf6kQ7IvO
https://dl.doubtnut.com/l/_Lliw82pPrM9x
https://dl.doubtnut.com/l/_Izs25qAQWsDq


Watch Video Solution

12. How do you measure the time period of a

given pendulum? Why do you note the time

for more than one oscillation?

Watch Video Solution

13. How does the time period (T) of a simple

pendulum depend on its length (l)? Draw a

graph showing the variation of  with l. HowT2

https://dl.doubtnut.com/l/_Izs25qAQWsDq
https://dl.doubtnut.com/l/_lNcqHw82S230
https://dl.doubtnut.com/l/_a2TlIZ7EfUTk


will you use this graph to determine the value

of g (acceleration due to gravity) ?

Watch Video Solution

14. Two simple pendulums A and B have equal

lengths, but their bobs weigh 50 gm and 100

gm, respectively. What would be the ratio of

their time periods? Give reasons for your

answer.

Watch Video Solution

https://dl.doubtnut.com/l/_a2TlIZ7EfUTk
https://dl.doubtnut.com/l/_WlKxSoUAG89c
https://dl.doubtnut.com/l/_DAqoMvrrxKuv


15. Two simple pendulums A and B have

lengths 1.0 m and 4.0 m respectively at a

certain place. Which pendulum will make more

oscillations in 1 minute ? Explain your answer.

Watch Video Solution

16. State how does the time period of a simple

pendulum depend on length of pendulum.

Watch Video Solution

https://dl.doubtnut.com/l/_DAqoMvrrxKuv
https://dl.doubtnut.com/l/_AsvaFWCx7JUi
https://dl.doubtnut.com/l/_Nnuw7bR8Jd7w


17. State how does the time period of a simple

pendulum depend on mass of bob.

Watch Video Solution

18. State how does the time period of a simple

pendulum depend on amplitude of oscillation .

Watch Video Solution

19. State how does the time period of a simple

pendulum depend on acceleration due to

https://dl.doubtnut.com/l/_Nnuw7bR8Jd7w
https://dl.doubtnut.com/l/_sZFNQJz1Dpj6
https://dl.doubtnut.com/l/_gm7s20v8Y5dn


gravity.

Watch Video Solution

20. What is a seconds pendulum?

Watch Video Solution

21. State the numerical value of the frequency

of oscillation of a seconds' pendulum. Does it

depend on the amplitude of oscillation ?

Watch Video Solution

https://dl.doubtnut.com/l/_gm7s20v8Y5dn
https://dl.doubtnut.com/l/_9ihQPGmEk9ok
https://dl.doubtnut.com/l/_nmIEW8UHQfIT


Exercise 1 C Mulitple Choice Type

1. The length of a simple pendulum is made

one-fourth. Its time period becomes :

A. four times

B. one-fourth

C. double

D. half

https://dl.doubtnut.com/l/_nmIEW8UHQfIT
https://dl.doubtnut.com/l/_IRTQd8iAjvDX


Answer: D

Watch Video Solution

2. The time period of a pendulum clock is :

A. 1s

B. 2s

C. 1 min

D. 12 h

Answer: B

https://dl.doubtnut.com/l/_IRTQd8iAjvDX
https://dl.doubtnut.com/l/_jqEd4jjiXL16


Watch Video Solution

3. The length of a second pendulum is

A. 0.5 m

B. 9.8 m

C. 1.0 m

D. 2.0m

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_jqEd4jjiXL16
https://dl.doubtnut.com/l/_vK1GwbGLCJlT


Exercise 1 C Numericals

1. A simple pendulum completes 40

oscillations in one minute. Find its frequency

Watch Video Solution

2. A simple pendulum completes 40

oscillations in one minute. Find its time period

.

Watch Video Solution

https://dl.doubtnut.com/l/_vK1GwbGLCJlT
https://dl.doubtnut.com/l/_0tl2d4nUC3eR
https://dl.doubtnut.com/l/_cPv4qFOENYLO


3. The time period of a simple pendulum is 2 s.

What is its frequency ? What name is given to

such a pendulum ?

Watch Video Solution

4. A seconds' pendulum is taken to a place

where acceleration due to gravity falls to one-

fourth. How is the time period of the

https://dl.doubtnut.com/l/_cPv4qFOENYLO
https://dl.doubtnut.com/l/_CAmVNeOMaTdT
https://dl.doubtnut.com/l/_iyjKOrH5gUTX


pendulum affected, if at all ? Give reason.

What will be its new time period ?

Watch Video Solution

5. Find the length of a second.s pendulum at a

place where  (Take  = 3.14)

Watch Video Solution

g = 10ms − 2 π

6. Compare the time periods of two

pendulums of length 1 m and 9 m.

https://dl.doubtnut.com/l/_iyjKOrH5gUTX
https://dl.doubtnut.com/l/_OYPok9RKuWSA
https://dl.doubtnut.com/l/_zLkdhaG07jBi


Watch Video Solution

7. A pendulum completes two oscillations in

5s. What is its time period? If ,

find its length.

Watch Video Solution

g = 9.8ms
− 2

8. A pendulum completes two oscillations in

5s. What is its time period? If ,

find its length.

g = 9.8ms
− 2

https://dl.doubtnut.com/l/_zLkdhaG07jBi
https://dl.doubtnut.com/l/_ivlacKVm3Ny4
https://dl.doubtnut.com/l/_3OrCCe0vQK6l


Watch Video Solution

9. The time periods of two simple pendulums

at a place are in the ratio 2:1. What will be the

corresponding ratio of their lengths?

Watch Video Solution

10. It takes 0.2 s for a pendulum bob to move

from the mean position to one end. What is

the time period of the pendulum?

Watch Video Solution

https://dl.doubtnut.com/l/_3OrCCe0vQK6l
https://dl.doubtnut.com/l/_6JwbMWBMt9Vz
https://dl.doubtnut.com/l/_nUGuzV7EkiWW


Topic 1 International System Of Units 2 Marks

Questions

11. How much time does the bob of a second.s

pendulum take to move from one extreme to

the other extreme of its oscillation?

Watch Video Solution

https://dl.doubtnut.com/l/_nUGuzV7EkiWW
https://dl.doubtnut.com/l/_M5czAdPro7zb


1. Define astronomical unit (A.U), write its value

in metres.

Watch Video Solution

2. Write the symbol : Volume

Watch Video Solution

3. Write the symbol : Density

Watch Video Solution

https://dl.doubtnut.com/l/_7ou6IyP4tvww
https://dl.doubtnut.com/l/_oAmADWpA3xTi
https://dl.doubtnut.com/l/_zg2ipcinfDIr


4. Define SI unit. Write the unit of the

following fundamental quantity in SI system. 

(i) Temperature 

(ii) Length

Watch Video Solution

5. What is meant by measurement

Watch Video Solution

https://dl.doubtnut.com/l/_zg2ipcinfDIr
https://dl.doubtnut.com/l/_aqgTI5LTzndz
https://dl.doubtnut.com/l/_uu6uknxWcdpO
https://dl.doubtnut.com/l/_YIhkSYHleKh5


6. What do you understand by the term unit?

Watch Video Solution

7. If the size of bacteria is 1 micron, what will

be the number of it in 1 m length?

Watch Video Solution

8. Name two units of length which are bigger

than a meter. How are they related to the unit

https://dl.doubtnut.com/l/_YIhkSYHleKh5
https://dl.doubtnut.com/l/_KlvMrzP9jqTg
https://dl.doubtnut.com/l/_sNZenZF5QtSj


Topic 1 International System Of Units 3 Marks

Questions

meter?

Watch Video Solution

9. Write the names of two units of length

smaller than a meter. Express their

relationship with meter.

Watch Video Solution

https://dl.doubtnut.com/l/_sNZenZF5QtSj
https://dl.doubtnut.com/l/_8EhGvUi6BaSU
https://dl.doubtnut.com/l/_XEmbu5YxZNro


1. List the different system of units.

Watch Video Solution

2. State me difference between fundamental

units and derived units.

Watch Video Solution

3. The mass of a 4 cm cube is 512 gram, find its

density. 

https://dl.doubtnut.com/l/_XEmbu5YxZNro
https://dl.doubtnut.com/l/_v2Faafd7cDEy
https://dl.doubtnut.com/l/_fCT9tPxkaNSo


(i) In SI units 

(ii) In C.G.S units

Watch Video Solution

4. The wavelength of light of a particular

colour is 5800 Å. Express it in. 

(i) nanometre and (ii)metre

Watch Video Solution

https://dl.doubtnut.com/l/_fCT9tPxkaNSo
https://dl.doubtnut.com/l/_r7gdL4JGAfIk


5. Define the S.I. unit of three fundamental

quantities.

Watch Video Solution

6. Name the three systems of unit and state

the various fundamental units in them.

Watch Video Solution

7. Define a fundamental unit.

https://dl.doubtnut.com/l/_P23SMHcDvHQ3
https://dl.doubtnut.com/l/_jq9evBoCXwLr
https://dl.doubtnut.com/l/_ZfDLZHAF02eg


Watch Video Solution

8. Explain the meaning of derived unit with the

help of one example.

Watch Video Solution

9. Name the three convenient units used to

measure length ranging from very short to

very long value. How are they related to the S.I.

unit?

https://dl.doubtnut.com/l/_ZfDLZHAF02eg
https://dl.doubtnut.com/l/_BhSlt7E5kYmV
https://dl.doubtnut.com/l/_ayjPvcxGsqMt


Watch Video Solution

10. State two units of mass smaller than a

kilogram. How are they related to the unit

Kilogram?

Watch Video Solution

11. State two units of mass bigger than a

kilogram. Give their relationship with the

kilogram.

Watch Video Solution

https://dl.doubtnut.com/l/_ayjPvcxGsqMt
https://dl.doubtnut.com/l/_QqvFKZKtTfUL
https://dl.doubtnut.com/l/_mo4BgKC8iJ6A


12. What is lunar month?

Watch Video Solution

13. Name the physical quantities which are

measured in the following units: 

(a)u , (b) ly , (c ) ns , (d) nm

Watch Video Solution

https://dl.doubtnut.com/l/_mo4BgKC8iJ6A
https://dl.doubtnut.com/l/_UXTkx42gP8f0
https://dl.doubtnut.com/l/_waR3WmCsXjPU


14. Write the derived units of the following : 

(a) Speed , (b) Force , (c )Work , (d) Pressure

Watch Video Solution

15. How are the following derived units related

to the fundamental units ? 

(a)Newton , (b)Watt , (c ) Joule , (d) Pascal

Watch Video Solution

https://dl.doubtnut.com/l/_KZOUJQUHpdRg
https://dl.doubtnut.com/l/_iUPoKmlum48B


Topic 1 International System Of Units 4 Marks

Questions

16. Name the physical quantities related to the

following units : 

(a)  , (b)  , (c )  , (d) 

Watch Video Solution

km2 kgm − 3 ms − 2 kgms − 1

1. List the fundamental units with their

symbols.

Watch Video Solution

https://dl.doubtnut.com/l/_711nCML5OViC
https://dl.doubtnut.com/l/_WwiAMFPqRCCe


Topic 2 Simple Pendulum 2 Marks Questions

2. Finalise the standard prefixes with their

symbols which are attached to the units in the

decreasing order.

Watch Video Solution

1. What is a simple pendulum ? Is the

pendulum used in a pendulum clock simple

https://dl.doubtnut.com/l/_WwiAMFPqRCCe
https://dl.doubtnut.com/l/_RqvwhUn4OyAg
https://dl.doubtnut.com/l/_dhcFsrLj1SV6


pendulum ? Give reason to your answer.

Watch Video Solution

2. The time period of a simple pendulum is 2 s.

What is its frequency?

Watch Video Solution

3. A simple pendulum completes 40

oscillations in one minute. Find its frequency

Watch Video Solution

https://dl.doubtnut.com/l/_dhcFsrLj1SV6
https://dl.doubtnut.com/l/_7KoTnEaccCtu
https://dl.doubtnut.com/l/_EFNqux9urE6h


4. A simple pendulum completes 40

oscillations in one minute. Find its time period

.

Watch Video Solution

5. Find the length of a second.s pendulum at a

place where  (Take  = 3.14)

Watch Video Solution

g = 10ms − 2 π

https://dl.doubtnut.com/l/_EFNqux9urE6h
https://dl.doubtnut.com/l/_q3jzfcNApnL7
https://dl.doubtnut.com/l/_srsK6tert5TI
https://dl.doubtnut.com/l/_FVYHgVCOw41x


6. On what factors does the period of a simple

pendulum depend ?

Watch Video Solution

7. Compare the time periods of two

pendulums of length 1 m and 9 m.

Watch Video Solution

https://dl.doubtnut.com/l/_FVYHgVCOw41x
https://dl.doubtnut.com/l/_RKw16MbgbVDP


8. Name two factors on which the time period

of a simple pendulum does not depend.

Watch Video Solution

9. A pendulum completes two oscillations in

5s. What is its time period? If ,

find its length.

Watch Video Solution

g = 9.8ms
− 2

https://dl.doubtnut.com/l/_Zhx5mZzF9puW
https://dl.doubtnut.com/l/_xy1HFP6mSSW4


10. The time periods of two simple pendulums

at a place are in the ratio 2:1. What will be the

corresponding ratio of their lengths?

Watch Video Solution

11. It takes 0.2 s for a pendulum bob to move

from the mean position to one end. What is

the time period of the pendulum?

Watch Video Solution

https://dl.doubtnut.com/l/_FLgfjljFcbzp
https://dl.doubtnut.com/l/_BHP2DVQZoRKj
https://dl.doubtnut.com/l/_5aBivaz0hUb1


12. How much time does the bob of a second.s

pendulum take to move from one extreme to

the other extreme of its oscillation?

Watch Video Solution

13. Two simple pendulums A and B have equal

lengths, but their bobs weigh 50 gm and 100

gm, respectively. What would be the ratio of

their time periods? Give reasons for your

answer.

Watch Video Solution

https://dl.doubtnut.com/l/_5aBivaz0hUb1
https://dl.doubtnut.com/l/_de0GyQ4CufiO


14. Two simple pendulums A and B have

lengths 1.0 m and 4.0 m respectively at a

certain place. Which pendulum will make more

oscillations in 1 minute ? Explain your answer.

Watch Video Solution

15. State how does the time period of a simple

pendulum depend on length of pendulum.

Watch Video Solution

https://dl.doubtnut.com/l/_de0GyQ4CufiO
https://dl.doubtnut.com/l/_Aqpe1Xsbryfq
https://dl.doubtnut.com/l/_TC9v5JirjZ0w


16. State how does the time period of a simple

pendulum depend on mass of bob.

Watch Video Solution

17. State how does the time period of a simple

pendulum depend on amplitude of oscillation .

Watch Video Solution

https://dl.doubtnut.com/l/_TC9v5JirjZ0w
https://dl.doubtnut.com/l/_s2gI4gVbARvw
https://dl.doubtnut.com/l/_G2U80F1Aicle


18. State how does the time period of a simple

pendulum depend on acceleration due to

gravity.

Watch Video Solution

19. State the numerical value of the frequency

of oscillation of a seconds' pendulum. Does it

depend on the amplitude of oscillation ?

Watch Video Solution

https://dl.doubtnut.com/l/_HZfK8LDxS2Jg
https://dl.doubtnut.com/l/_lhIUS90LziVP


Topic 2 Simple Pendulum 3 Marks Questions

1. Draw a neat diagram of a simple pendulum.

Show on it the effective length of the

pendulum and its one oscillation.

Watch Video Solution

2. Define oscillation related to a simple

pendulum

Watch Video Solution

https://dl.doubtnut.com/l/_8CJtxv1wGGfU
https://dl.doubtnut.com/l/_HBgQVq9kVcU6


3. Define the Amplitude

Watch Video Solution

4. How is the frequency of a wave related to its

time period ?

Watch Video Solution

5. Define the term time period as related to a

simple pendulum.

https://dl.doubtnut.com/l/_eCD0pol7a3FT
https://dl.doubtnut.com/l/_JO6KmdjCuXbK
https://dl.doubtnut.com/l/_W7LUNdZ1peeE


Watch Video Solution

6. A seconds' pendulum is taken to a place

where acceleration due to gravity falls to one-

fourth. How is the time period of the

pendulum affected, if at all ? Give reason.

What will be its new time period ?

Watch Video Solution

https://dl.doubtnut.com/l/_W7LUNdZ1peeE
https://dl.doubtnut.com/l/_UWaMAcSxpN34


7. How is the time period of a simple

pendulum affected, if at all, in the following

situation 

the length is made four times.

Watch Video Solution

8. How is the time period of a simple

pendulum affected, if at all, in the following

situations: The acceleration due to gravity is

reduced to one-fourth

https://dl.doubtnut.com/l/_eEPsrLeyvfvJ
https://dl.doubtnut.com/l/_0LGaCwfiD8Ks


Watch Video Solution

9. How do you measure the time period of a

given pendulum? Why do you note the time

for more than one oscillation?

Watch Video Solution

10. How does the time period (T) of a simple

pendulum depend on its length (l)? Draw a

graph showing the variation of  with l. HowT2

https://dl.doubtnut.com/l/_0LGaCwfiD8Ks
https://dl.doubtnut.com/l/_QOHabWLdSY11
https://dl.doubtnut.com/l/_gYQApx6ZyEue


Topic 2 Simple Pendulum 4 Marks Questions

will you use this graph to determine the value

of g (acceleration due to gravity) ?

Watch Video Solution

1. The length of the simple pendulum is 40 cm.

Calculate its time period.

Watch Video Solution

https://dl.doubtnut.com/l/_gYQApx6ZyEue
https://dl.doubtnut.com/l/_rEn1s7hT9jc1

